

High-Quality Paper Products Certified by Green Seal™



Welcome to DublNature®.

## The Look.

Clean, bright, white and exceptionally stylish.

# The Feel.

Plush, cloth-like towels, gentle softness tissue.

# The Experience.

and for strength of the streng

<sup>1</sup>ATMOS is a trademark of Voith GmbH in Heidenheim, Germany. Used by permission DublNature® tissue items: 59890, 59490, 62090 are not made utilizing ATMOS.

<sup>2</sup>Green Seal™ is a trademark of Green Seal, Inc. in Washington DC. Used by permission.



DublNature® products are designed for comfort and functionality.

Products are manufactured with ATMOS technology providing unmatched softness, strength, absorbency and brightness¹.

DublNature® is made from high-quality 100% recycled fibers and certified by Green Seal, Inc. as environmentally preferable.

Offering versatility, DublNature® towels and tissue provide support for a wide range of applications. Bringing you the best in quality without sacrificing your green sensibilities, DublNature® truly offers the premium Green Seal™ experience².



## **DublNature® Roll Towels**

DublNature® roll towels offer the softness and strength needed to elevate your hand-drying experience. This is important in facilities such as: office buildings, lodging establishments, healthcare facilities, restaurants, and colleges/universities. DublNature® features a unique weave pattern creating highly absorbent towels so fewer are needed per hand dry. And with such exceptional brightness, you'll hardly believe DublNature® roll towels are made from 100% recycled fibers and are Green Seal™ certified.

- Available in varying roll lengths from 450 to 1,000 feet
- Controlled-use available to help minimize waste and reduce costs
- Universal roll options available



## **DublNature® Folded Towels**

Each DublNature® towel is designed for performance and offers superior strength, absorbency and softness. Folded towels are ideal for applications seeking high-quality reliable toweling including government facilities, restaurants and lodging. Available in varying configurations, there is a DublNature® folded towel that is just right for any application.

- Multifold, C-fold and OptiFold® configurations available
- Green Seal<sup>™</sup> certified
- Dispensed through most universal folded towel cabinets



## DublNature® Bath and Facial Tissue

DublNature® tissue is Green Seal™-certified and has upscale packaging to promote a premium green image. Offering the beauty of consumer bath tissue, DublNature® features attractive floral embossing. Controlled-use and universal bath tissue is designed to provide exceptional plushness and softness. DublNature® bath and facial tissue are ideal for office buildings, lodging properties, healthcare facilities or any establishment seeking a premium green experience.



- OptiCore® controlled-use tissue helps to control product waste and cost
- Facial is available in flat and cube box configurations
- Variety of sheet widths and sheet counts for any application



No.	Color	Dispenser	Roll Width	Feet/Roll	Rolls/Case	Feet/Case	
31040	White	89000, 80010, 87510, 86800	8	1,000	6	6,000	
71040	White	79000, 75010, 77510, 76700	71/2"	1,000	6	6,000	
38040	White	89000, 80010, 87510, 86800	8	800	6	4,800	
78040	White	79000, 75010, 77510, 76700	71/2"	800	6	4,800	
34540	White	86600, 80010, 87510, 86800	8	450	12	5,400	
74540	White	76600, 75010, 77510, 76700	71/2"	450	12	5,400	

#### Universal

No.	Color	Dispenser	Roll Width	Feet/Roll	Rolls/Case	Feet/Case	
44040	White	16000	8	1,000	6	6,000	
44840	White	16000	8"	800	6	4,800	

## **Folded Towels**

No.	Color	Description	Dispenser	Sheet Size (W" x L")	Towels/Pkg.	Pkgs./Case	Towels/Case
48140	White	Multifold	53200, 53500	91/8 x 91/2	250	16	4,000
49140	White	C-Fold	53200, 53500	10¹/ <sub>8</sub> x 13	150	16	2,400
48440	White	OptiFold®	53200, 53500	10¹/4 x 9¹/2	250	12	3,000
48640	White	OptiFold ES®	53200, 53500, 53800	8 x 9¹/₂	250	12	3,000

## **Bath Tissue**

#### Controlled

No.	Ply	Dispenser	Sheet Size (W" x L")	Sheets/Roll	Rolls/Case	Sheets/Case
62090	Double	80200, 80300, 82300	3³/4 x 4	865	36	31,140

#### Universal

No.	Ply	Dispenser	Sheet Size (W" x L")	Sheets/Roll	Rolls/Case	Sheets/Case	
59890	Double	72200	4³/ <sub>8</sub> x 3³/ <sub>4</sub>	500	80	40,000	
59490	Double	72200	4 <sup>3</sup> / <sub>8</sub> x 3 <sup>3</sup> / <sub>4</sub>	500	48	24,000	

## **Facial Tissue**

No.	Ply	Sheet Size (W" x L")	Sheets/Box	Boxes/Case	Sheets/Case	
10040	Double	8 x 8	100	30	3,000	
08540	Double	8 x 8	85	36	3,060	